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1. 15% Fig. 1 shows a parallel resistor-diode combination. IF Is = 3x 10'16A, calculate Vp; for Ix = 1mA,

2mA, and 4mA.
e
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2. 20% Plot the input/output characteristics of the circuits shown in Fig. 2 using an ideal model for the

diodes.
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15% Consider the circuit shown in Fig. 3, where Is = 5x 1071°A and V, = . If V3 is chosen to forward-bias

3.
the base-collector junction by 200mV, what is the collector current?

4. 15% What are

(a) Common collector amplifier?
(b) Common base amplifier?

(c) Emitter follower?
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5. 10% Determine the voltage gain of Fig. 5. Assume Ig = 7x1071%4, B =100, and V4= 5V. (But for

bias calculation, assume V= o). Also, assume the capacitors are very large.

Voe=25V

10 kQ) =

Vout
1kQ = 100Q

Fig. 5

6. 10% Compute the value of W/L for M; in Fig. 6 for a bias current of I;. Assume A=0. For NMOS, p,Cox =
200pA/VE, Vg = 0.4V.

Vop=1.8V

7. 15% What are
(a) Common source amplifier?
(b) Common gate amplifier?

(¢) Source follower?
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